



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{2}{5}\right) + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^0 - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right) + \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right)^0 + \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{2}{5}\right) + \frac{1}{4} = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{4} = \frac{3}{8}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{4}\right) = \frac{13}{36}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{19}{40}\right)$$

$$\left(-\frac{1}{5}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{5} = \frac{14}{45}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{31}{180}\right)$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{19}{150}\right)$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{5} = \frac{61}{80}$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{43}{80}\right)$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{263}{320}\right)$$

$$\left(\frac{1}{6}\right) + \frac{3}{4} = \frac{11}{12}$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{3}{80}\right)$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{11}{25}\right)$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{2}{5}\right) = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{1}{4}\right)^0 + \frac{1}{5} = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) = \frac{53}{80}$$